filo



Ol A4 4x - Sy +a = 0 0] 2L 712 1), 42 gL Falolat,

Qe



3. Az ohE A Ao x gkl diste] the Alo] AT w, at b+ c o
Zre

ax> -3x-b _
42 +cex-5

) @

N | =1

N | —
@
o | ©
®
—_
=
w
w



A4 d w, x2 -5x+6 =05 2H?

1)
-

Tx—5<4(x+1)°]2 x

4.

@ x=2 x=3

@ x=2

@ x=0,x=1

B x=-2. x=3

@ x=23



rd
o 76l
9O R
© &
I~
=
&
T
S

1
L

SRR

(m—1)x% — (m? +2m-2)x+21
!

A4
o]
+& nE
f?

o]
gl



ol

of 27} otk

rJ
iu

-6 9]

@ k

Al
ol
il

—_

ﬂmo

@
k=-10]%

®
k=00l

n_rt
~K
el

i

—_

2%

i
Bl

o] 17 olck

o] gt}

rJ
Bl

@
k=2 0]

® k

il
B

4 o]






_ 4 1 _ _
L oA A] St -1=0 9] ol E 5tofet



Al x2—2ax—x+2a = 0 T} 2x2 4+ 2ax+5x—a-3 =0

todek (2, -4<a<0)

)

O
=

7V W, a ol g

O o1 =

I E 190

o]

.

ul






